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The time and cost performance of a project in progress can be determined by comparing the
three key parameters of an earned value management system, known as Planned Value (PV),
Actual Cost (AC) and Earned Value (EV).

PV = Planned Value (Cumulative) = Budgeted Cost of Work Scheduled (BCWS)
EV = Earned Value (Cumulative) = Budgeted Cost of Work Performed (BCWP)
AC = Actual Cost (Cumulative) = Actual Cost of Work Performed (ACWP).
BAC = Budget at Completion, SAC = Schedule at Completion

PV = BAC x Planned Percentage of Completion (POC%)

EV = BAC x Actual Percentage of Completion (AOC%)
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Schedule Variance, SV = EV — PV (Cost Unit)

SAC

In time unit, SV = — (EV — PV)
BAC

Schedule Variance Percent, SV% = SV + PV
Schedule Performance Index,

SPI] = EV
PV
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Cost Variance, CV =EV — AC
Cost Variance Percent, CV% = CV + EV
Cost Performance Index,

CPI = EV
— AC
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Note, SV =-2.5 (1 hour/10 $) = - 0.25 hour (in unit time)
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Earned value Formula

Are we ahead or behind
schedule?

Schedule Variance (SV)

SV = EV- PV

How efficiency are we
using our time?

Schedule Performance

Time Index (SPI) SPI = =¥
When are we likely to Time Estimate At TEAC — SAC
finish work? Completion (TEAC) ~ SPI
Will we be ahead or behind Time Variance At B
schedule? Completion (TVAC) TVAC = SAC- TEAC
Are we under or over Cost Variance (CV) CV = EV- AC
budget?
How efficiency are we Cost Performance Index CPI = EV
using our cost? (CPI) ~ AC
How efficiently must we To-Complete Cost BAC-EV
2 TCPI =
Cost use our remaining cost Performance Index (TCPI) BAC- AC
What is the project likely to Cost Estimate At CEAC BAC
cost? Completion (CEAC) ~ CPI
Will we be under or over Cost Variance At _
budget? Completion (CVAC) CVAC = BAC- CEAC
What will the remaining Cost Estimate To B B
work cost? Complete (CETC) CETC = CEAC—AC
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